

RE-BID OPENING RESULTS FOR SITE WORK FOR VARIOUS FIELDS

March 2, 2022, MAIN CONFERENCE ROOM HELD @ 2:30 PM

REPRESENTING THE TOWNSHIP OF JACKSON:

Veronica Dingle, QPA, Purchasing Agent

Carol Jordan, Purchasing Clerk

Marianne Horta Jackson Twp.

Bids Received:

1. The LandTek Group Inc.

105 Sweeneydale Ave.

Bay Shore, NY 11706

PH (631) 691 2381

Base Bid \$263,160.00

*Alternates are attached

2. Applied Landscape Tech

145 River Road

Montville, NJ 07045

PH (973) 4026544

Base bid \$377,102.00

The Township Attorney, Engineering Consultant, and the Department of Purchasing will hold all bids for review. All and any awards will be made by action of the Township Council of the Township of Jackson.

*****Please see attached for break down*****

BID PACKET

FOR:

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

TOWNSHIP OF JACKSON

BY:

Applied Landscape Technologies
(Bidder Name)

145 River Road

Montville, NJ 07045

(Bidder Address)

9734026544

(Bidder Phone Number)

9733905100

(Bidder Alternative Phone Number)

9734026704

(Bidder Fax Number)

223144785

(Bidder Federal I.D. # or S.S. #)

paul@applied Lt.com

(Bidder Email Address)

Paul Martino

(Name of Bidder's Authorized Representative)

TO:

**TOWNSHIP OF JACKSON
95 WEST VETERANS HWY,
JACKSON, NJ 08527**

BID PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

Applied Landscape Technologies

(Bidder Name)
145 River Road Montville, NJ 07045

BID 'A' - JUSTICE COMPLEX BASEBALL FIELDS #1 & #2 SITE WORK FOR SYNTHETIC TURF REPLACEMENT

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>UNIT PRICE BID</u>	<u>BID AMOUNT</u>
A.1	CLEARING SITE	1	LS	\$ 39,305.00	\$ 39,305.00
A.2	REPAIRS TO EXISTING CHAIN LINK FENCE	1	LS	\$ 38,350.00	\$ 38,350.00
A.3	REPAIRS TO EXISTING CHAIN LINK FENCE BACKSTOP	1	LS	\$ 9,880.00	\$ 9,880.00
A.4	CORRUGATED PVC FENCE TOPPER	1,320	LF	\$ 4.00	\$ 5,280.00
	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, 6" TO 12"				
A.5	DIAMETER	1,560	LF	\$ 2.00	\$ 3,120.00
	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 12" TO				
A.6	18" DIAMETER	200	LF	\$ 2.50	\$ 500.00
	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 18" TO				
A.7	24" DIAMETER	1,150	LF	\$ 3.00	\$ 3,450.00
	CLEANING EXISTING PIPE, 6" TO 12"				
A.8	DIAMETER	1,560	LF	\$ 2.50	\$ 3,900.00
	CLEANING EXISTING PIPE, OVER 12" TO 18"				
A.9	DIAMETER	200	LF	\$ 3.00	\$ 600.00
	CLEANING EXISTING PIPE, OVER 18" TO 24"				
A.10	DIAMETER	1,150	LF	\$ 4.50	\$ 5,175.00
	CLEANING EXISTING TRENCH DRAIN &				
A.11	INSTALL OF NYLOLAST RECHARGE BASIN	1	LS	\$ 17,650.00	\$ 17,650.00
A.12	CLEANING DRAINAGE STRUCTURE	10	UNIT	\$ 400.00	\$ 4,000.00
A.13	CONCRETE SIDEWALK, 4" THICK	30	SY	\$ 225.00	\$ 6,750.00
A.14	ALLOWANCE - MISC. WORK	25,000	DOLLARS	\$ 1.00	\$ 25,000
A.15	REMOVAL OF CLAY BATTERS BOX	720	SF	\$ 9.00	\$ 6,480.00
	3/4" BASE STONE, 4" THICK (FOR BATTERS A.16 BOX AREA)	1,440	SF	\$ 3.00	\$ 4,320.00

A.17	FINISH STONE, 2" THICK (FOR BATTERS BOX AREA)	1,440	SF	\$ 3.50	\$ 5,040.00
A.18	GEOTEXTILE FABRIC (FOR BATTERS BOX AREA)	1,440	SF	\$ 1.10	\$ 1,584.00
A.19	SUPPLEMENT FINISH STONE & LASER GRADING	80,400	SF	\$ 0.39	\$ 31,356.00
A.20	COORDINATION WITH TURF FIELD INSTALLER	1	LS	\$ 1,000.00	\$ 1,000.00
A.21	BASEBALL FIELD EQUIPMENT (BASES, PITCHER'S RUBBER, HOME PLATE, ETC.)	1	LS	\$ 14,900.00	\$ 14,900.00
A.22	QUAZITE PULL BOXES	4	UNIT	\$ 820.00	\$ 3,280.00
A.23	1" RIGID NON-METALLIC CONDUIT W/ PULL CORDS	280	LF	\$ 21.00	\$ 5,880.00
A.24	ELECTRICAL ENCLOSURE (IN FIELD)	2	UNIT	\$ 3,500.00	\$ 7,000.00
A.25	GENERAL SURFACE RESTORATION	1	LS	\$ 17,700.00	\$ 17,700.00

TOTAL BID AMOUNT (Items A.1 through A.25): \$ 261,500.00

WRITE TOTAL BID AMOUNT
(Items A.1 through A.25):

Two hundred sixty one thousand
Five hundred dollars
FM

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

BASE BID 'B' - HOLMAN ATHLETIC COMPLEX
MULTIPURPOSE FOOTBALL FIELD
SITE WORK FOR SYNTHETIC TURF REPLACEMENT

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>UNIT PRICE BID</u>	<u>BID AMOUNT</u>
B.1	CLEARING SITE	1	LS	\$ 29,264	\$ 29,264.00
B.2	REPAIRS TO EXISTING CHAIN LINK FENCE	1	LS	\$ 18,890.00	\$ 18,890.00
B.3	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, 6" TO 12" DIAMETER	1,190	LF	\$ 2.00	\$ 2,380.00
B.4	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 12" TO 18" DIAMETER	200	LF	\$ 2.50	\$ 500.00
B.5	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 18" TO 24" DIAMETER	400	LF	\$ 3.00	\$ 1,200.00
B.6	CLEANING EXISTING PIPE, 6" TO 12" DIAMETER	1,190	LF	\$ 2.50	\$ 2,975.00
B.7	CLEANING EXISTING PIPE, OVER 12" TO 18" DIAMETER	200	LF	\$ 3.00	\$ 600.00
B.8	CLEANING EXISTING PIPE, OVER 18" TO 24" DIAMETER	400	LF	\$ 4.50	\$ 1,800.00
B.9	CLEANING DRAINAGE STRUCTURE	3	UNIT	\$ 400.00	\$ 1,200.00
B.10	CONCRETE SIDEWALK, 4" THICK	30	SY	\$ 225.00	\$ 6,750.00
B.11	ALLOWANCE - MISC. WORK	25,000	DOLLARS	\$ 1.00	\$ 25,000
B.12	SUPPLEMENT FINISH STONE & LASER GRADING	87,800	SF	\$ 0.21	\$ 18,438.00
B.13	COORDINATION WITH TURF FIELD INSTALLER	1	LS	\$ 1,000.00	\$ 1,000.00
B.14	GENERAL SURFACE RESTORATION	1	LS	\$ 5,600.00	\$ 5,600.00

TOTAL BID AMOUNT (Items B.1 through B.14): \$ 115,602.00

WRITE TOTAL BID AMOUNT
(Items B.1 through B.14):

One hundred fifteen thousand
 six hundred two dollars

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

BASIS OF AWARD

BIDDERS ARE ADVISED THAT ONE (1) CONTRACT WILL BE AWARDED FOR THE LOWEST AMOUNT BID FOR THE TOTAL SUM OF BASE BID 'A' AND BASE BID 'B'. Rm

TOTAL AMOUNT BASE BID 'A'	\$ <u>261,500.00</u>
TOTAL AMOUNT BASE BID 'B'	\$ <u>115,402.00</u>
TOTAL CONTRACT AMOUNT BID (BASE BID 'A' + 'B')	\$ <u>377,102.00</u>

*By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:* Rm

ALTERNATE BID 'C' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

Applied Landscape Technologies
145 River Road Montville, NJ 07045

ALTERNATE BID 'C' - JUSTICE COMPLEX BASEBALL FIELDS #1 & #2 SITE WORK FOR 60' & 50/70' BASEBALL LAYOUT & SOFTBALL FIELD LAYOUT

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>UNIT PRICE BID</u>	<u>BID AMOUNT</u>
C.1	REMOVAL OF CLAY PITCHERS MOUND	380	SF	\$ 10.00	\$ 3,800.00
C.2	3/4" BASE STONE, 4" THICK (FOR PITCHERS MOUND AREA) - ADD BASE BID ITEM #A.16	690	SF	\$ 6.00	\$ 4,140.00
C.3	FINISH STONE, 2" THICK (FOR PITCHERS MOUND AREA) - ADD BASE BID ITEM #A.17	690	SF	\$ 7.00	\$ 4,830.00
C.4	GEOTEXTILE FABRIC (FOR PITCHERS MOUND AREA) - ADD BASE BID ITEM #A.18	690	SF	\$ 1.02	\$ 703.80
C.5	BASEBALL FIELD EQUIPMENT (BASES, PITCHER'S RUBBER, HOME PLATE, ETC.) - DEDUCT BASE BID ITEM #A.20	-1	LS	\$ 14,900.00	\$ 14,900.00
C.6	SOFTBALL & BASEBALL FIELD EQUIPMENT (BASES, PORTABLE MOUNDS, HOME PLATE, ETC.)	1	LS	\$ 15,000.00	\$ 15,000.00
C.7	PREFABRICATED STORAGE GARAGE ON 12" THICK 3/4" CLEAN STONE BEDDING	2	UNIT	\$ 17,000.00	\$ 34,000.00

TOTAL BID AMOUNT (Items C.1 through C.7): \$ 47,573.80

WRITE TOTAL BID AMOUNT
(Items C.1 through C.7):

Forty seven thousand four
hundred seventy three dollars and
eighty cents

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

PM

ALTERNATE BID 'D' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

Applied Landscape Technologies

(Bidder Name)
145 River Road Montville, NJ 07045

ALTERNATE BID 'D' - JUSTICE COMPLEX BASEBALL FIELDS #1 & #2 DUGOUT CANOPY REPLACEMENT

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>UNIT PRICE BID</u>	<u>BID AMOUNT</u>
D.1	REMOVE & REPLACE DUGOUT SHADE CANOPY	4	UNIT	\$22,250.00	\$ 89,000.00

TOTAL BID AMOUNT (Item D.1): \$ 89,000.00

WRITE TOTAL BID AMOUNT
(Item D.1):

Eighty nine thousand dollars

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

DM

ALTERNATE BID 'E' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

Applied Landscape Technologies

145 River Road Montville, NJ 07045

(Bidder Name)

ALTERNATE BID 'E' - HOLMAN ATHLETIC COMPLEX MULTIPURPOSE FOOTBALL FIELD FOOTBALL SAFETY NETTING SYSTEM

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>PRICE BID</u>	<u>BID AMOUNT</u>
E.1	FOOTBALL SAFETY NETTING SYSTEM	2	UNIT	\$ 19,650.00	\$ 39,300.00

TOTAL BID AMOUNT (Item E.1): \$ 39,300.00

WRITE TOTAL BID AMOUNT

(Item E.1):

Thirty nine thousand three
hundred dollars

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

PM

ALTERNATE BID 'F' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

Applied Landscape Technologies
145 River Road Montville, NJ 07045
(Bidder Name)

ALTERNATE BID 'F' - JUSTICE COMPLEX SOCCER FIELD SITE WORK FOR SYNTHETIC TURF REPLACEMENT

ITEM	DESCRIPTION	BID QUANTITY	UNIT	UNIT PRICE BID	BID AMOUNT
F.1	CLEARING SITE	1	LS	\$ 32,600 ⁰⁰	\$ 32,600 ⁰⁰
F.2	REPAIRS TO EXISTING CHAIN LINK FENCE	1	LS	\$ 33,900 ⁰⁰	\$ 33,900 ⁰⁰
F.3	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, 6" TO 12" DIAMETER	1,210	LF	\$ 2.00	\$ 2,420 ⁰⁰
F.4	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 12" TO 18" DIAMETER	150	LF	\$ 2.50	\$ 375 ⁰⁰
F.5	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 18" TO 24" DIAMETER	650	LF	\$ 3.00	\$ 1,950 ⁰⁰
F.6	CLEANING EXISTING PIPE, 6" TO 12" DIAMETER	1,210	LF	\$ 2.50	\$ 3,025 ⁰⁰
F.7	CLEANING EXISTING PIPE, OVER 12" TO 18" DIAMETER	150	LF	\$ 3.00	\$ 450 ⁰⁰
F.8	CLEANING EXISTING PIPE, OVER 18" TO 24" DIAMETER	650	LF	\$ 4.50	\$ 2,925 ⁰⁰
F.9	CLEANING DRAINAGE STRUCTURE	6	UNIT	\$ 400 ⁰⁰	\$ 2,400 ⁰⁰
F.10	CONCRETE SIDEWALK, 4" THICK	30	SY	\$ 225 ⁰⁰	\$ 6,750 ⁰⁰
F.11	ALLOWANCE - MISC. WORK	25,000	DOLLARS	\$ 1.00	\$ 25,000
F.12	SUPPLEMENT FINISH STONE & LASER GRADING	95,900	SF	\$ 0.19	\$ 18,221 ⁰⁰
F.13	COORDINATION WITH TURF FIELD INSTALLER	1	LS	\$ 1,000 ⁰⁰	\$ 1,000 ⁰⁰
F.14	SOCER FIELD EQUIPMENT (REPLACEMENT NETS & WHEEL KITS)	1	LS	\$ 23,800 ⁰⁰	\$ 23,800 ⁰⁰
F.15	GENERAL SURFACE RESTORATION	1	LS	\$ 9,800 ⁰⁰	\$ 9,800 ⁰⁰

(CONTINUED OF NEXT PAGE)

WRITE TOTAL BID AMOUNT
(Items F.1 through F.15):

TOTAL BID AMOUNT (Items F.1 through F.15): \$ 164,616.00

PM

One hundred sixty four thousand
Six hundred sixteen dollars

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

PM

ALTERNATE BID 'G' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

Applied Landscape Technologies
145 River Road Montville, NJ 07045
(Bidder Name)

ALTERNATE BID 'G' - JUSTICE COMPLEX SOCCER FIELD BALL STOPPER NETTING

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>UNIT PRICE BID</u>	<u>BID AMOUNT</u>
G.1	BALL STOPPER NETTING, 20' HIGH	765	LF	\$ 135.00	\$ 103,275.00

TOTAL BID AMOUNT (Item G.1): \$ 103,275.00

WRITE TOTAL BID AMOUNT
(Item G.1):

One hundred three thousand
two hundred seventy five dollars

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is pm complete and accurate:

ALTERNATE BID 'H' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

Applied Landscape Technologies
145 River Road Montville, NJ 07045
(Bidder Name)

ALTERNATE BID 'H' - JUSTICE COMPLEX MULTIPURPOSE FOOTBALL FIELD SITE WORK FOR SYNTHETIC TURF REPLACEMENT

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>UNIT PRICE BID</u>	<u>BID AMOUNT</u>
H.1	CLEARING SITE	1	LS	\$ 32,600.00	\$ 32,600.00
H.2	REPAIRS TO EXISTING CHAIN LINK FENCE	1	LS	\$ 33,900.00	\$ 33,900.00
H.3	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, 6" TO 12" DIAMETER	1,200	LF	\$ 2.00	\$ 2,400.00
H.4	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 12" TO 18" DIAMETER	175	LF	\$ 2.50	\$ 437.50
H.5	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 18" TO 24" DIAMETER	725	LF	\$ 3.00	\$ 2,175.00
H.6	CLEANING EXISTING PIPE, 6" TO 12" DIAMETER	1,200	LF	\$ 2.50	\$ 3,000.00
H.7	CLEANING EXISTING PIPE, OVER 12" TO 18" DIAMETER	175	LF	\$ 3.00	\$ 525.00
H.8	CLEANING EXISTING PIPE, OVER 18" TO 24" DIAMETER	725	LF	\$ 4.50	\$ 3,262.50
H.9	CLEANING DRAINAGE STRUCTURE	10	UNIT	\$ 400.00	\$ 4,000.00
H.10	CONCRETE SIDEWALK, 4" THICK	130	SY	\$ 225.00	\$ 29,250.00
H.11	ALLOWANCE - MISC. WORK	25,000	DOLLARS	\$ 1.00	\$ 25,000.00
H.12	SUPPLEMENT FINISH STONE & LASER GRADING	87,800	SF	\$ 0.24	\$ 21,072.00
H.13	COORDINATION WITH TURF FIELD INSTALLER	1	LS	\$ 1,000.00	\$ 1,000.00
H.14	JUSTICE COMPLEX MULTIPURPOSE FIELD EQUIPMENT (REPLACEMENT NETS & WHEEL KITS)	1	LS	\$ 24,000.00	\$ 24,000.00
H.15	GENERAL SURFACE RESTORATION	1	LS	\$ 9,800.00	\$ 9,800.00

(CONTINUED OF NEXT PAGE)

PA

TOTAL BID AMOUNT (Items H.1 through H.15): \$ 194,422.00

WRITE TOTAL BID AMOUNT
(Items H.1 through H.15):

One hundred ninety four thousand
Four hundred twenty two dollars

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

PM

ALTERNATE BID 'I' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

Applied Landscape Technologies

(Bidder Name)
145 River Road Montville, NJ 07045

ALTERNATE BID 'I' - JUSTICE COMPLEX MULTIPURPOSE FOOTBALL FIELD BALL STOPPER NETTING

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>UNIT PRICE BID</u>	<u>BID AMOUNT</u>
I.1	BALL STOPPER NETTING, 20' HIGH	570	LF	\$ 180.00	\$ 102,600.00

TOTAL BID AMOUNT (Item I.1): \$ 102,600.00

WRITE TOTAL BID AMOUNT
(Item I.1):

One hundred two thousand
Six hundred dollars

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is PM complete and accurate:

BID PACKET

FOR:

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

TOWNSHIP OF JACKSON

BY:

The LandTek Group, Inc.
(Bidder Name)

105 Sweeneydale Ave.

Bay Shore, NY 11706

(Bidder Address)

631-691-2381

(Bidder Phone Number)

(Bidder Alternative Phone Number)

631-598-8280

(Bidder Fax Number)

11-2945683

(Bidder Federal I.D. # or S.S. #)

Estimatinggroup@landtekgroup.com
(Bidder Email Address)

Michael Ryan, President

(Name of Bidder's Authorized Representative)

TO:

**TOWNSHIP OF JACKSON
95 WEST VETERANS HWY,
JACKSON, NJ 08527**

BID PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

The LandTek Group, Inc.

(Bidder Name)

BID 'A' - JUSTICE COMPLEX BASEBALL FIELDS #1 & #2 SITE WORK FOR SYNTHETIC TURF REPLACEMENT

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>UNIT PRICE BID</u>	<u>BID AMOUNT</u>
A.1	CLEARING SITE	1	LS	\$ 27,000 ⁰⁰	\$ 27,000 ⁰⁰
A.2	REPAIRS TO EXISTING CHAIN LINK FENCE	1	LS	\$ 23,000 ⁰⁰	\$ 23,000 ⁰⁰
A.3	REPAIRS TO EXISTING CHAIN LINK FENCE BACKSTOP	1	LS	\$ 4,000 ⁰⁰	\$ 4,000 ⁰⁰
A.4	CORRUGATED PVC FENCE TOPPER	1,320	LF	\$ 8 ⁰⁰	\$ 10,560 ⁰⁰
A.5	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, 6" TO 12" DIAMETER	1,560	LF	\$ 2 ⁰⁰	\$ 3,120 ⁰⁰
A.6	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 12" TO 18" DIAMETER	200	LF	\$ 2 ⁰⁰	\$ 400 ⁰⁰
A.7	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 18" TO 24" DIAMETER	1,150	LF	\$ 2 ⁰⁰	\$ 2,300 ⁰⁰
A.8	CLEANING EXISTING PIPE, 6" TO 12" DIAMETER	1,560	LF	\$ 4 ⁰⁰	\$ 6,240 ⁰⁰
A.9	CLEANING EXISTING PIPE, OVER 12" TO 18" DIAMETER	200	LF	\$ 4 ⁰⁰	\$ 800 ⁰⁰
A.10	CLEANING EXISTING PIPE, OVER 18" TO 24" DIAMETER	1,150	LF	\$ 4 ⁰⁰	\$ 4,600 ⁰⁰
A.11	CLEANING EXISTING TRENCH DRAIN & INSTALL OF NYLOLAST RECHARGE BASIN	1	LS	\$ 7,000 ⁰⁰	\$ 7,000 ⁰⁰
A.12	CLEANING DRAINAGE STRUCTURE	10	UNIT	\$ 400 ⁰⁰	\$ 4,000 ⁰⁰
A.13	CONCRETE SIDEWALK, 4" THICK	30	SY	\$ 220 ⁰⁰	\$ 4,600 ⁰⁰
A.14	ALLOWANCE - MISC. WORK	25,000	DOLLARS	\$ 1.00	\$ 25,000
A.15	REMOVAL OF CLAY BATTERS BOX	720	SF	\$ 1 ⁰⁰	\$ 720 ⁰⁰
A.16	3/4" BASE STONE, 4" THICK (FOR BATTERS BOX AREA)	1,440	SF	\$ 1 ⁰⁰	\$ 1,440 ⁰⁰

A.17	FINISH STONE, 2" THICK (FOR BATTERS BOX AREA)	1,440	SF	\$ 1 ¹² ₀₀	\$ 1,440 ⁰⁰ ₀₀
A.18	GEOTEXTILE FABRIC (FOR BATTERS BOX AREA)	1,440	SF	\$ 1.20 ⁰⁰	\$ 238 ⁰⁰ ₀₀
A.19	SUPPLEMENT FINISH STONE & LASER GRADING	80,400	SF	\$ 16 ⁴⁰	\$ 12,864 ⁰⁰ ₀₀
A.20	COORDINATION WITH TURF FIELD INSTALLER	1	LS	\$ 2,500 ⁰⁰	\$ 2,500 ⁰⁰ ₀₀
A.21	BASEBALL FIELD EQUIPMENT (BASES, PITCHER'S RUBBER, HOME PLATE, ETC.)	1	LS	\$ 9,000 ⁰⁰	\$ 9,000 ⁰⁰ ₀₀
A.22	QUAZITE PULL BOXES	4	UNIT	\$ 1,500 ⁰⁰	\$ 6,000 ⁰⁰ ₀₀
A.23	1" RIGID NON-METALLIC CONDUIT W/ PULL CORDS	280	LF	\$ 15 ⁰⁰	\$ 4,200 ⁰⁰ ₀₀
A.24	ELECTRICAL ENCLOSURE (IN FIELD)	2	UNIT	\$ 3,000 ⁰⁰	\$ 6,000 ⁰⁰ ₀₀
A.25	GENERAL SURFACE RESTORATION	1	LS	\$ 6,000 ⁰⁰	\$ 6,000 ⁰⁰ ₀₀

TOTAL BID AMOUNT (Items A.1 through A.25): \$ 174,572 ⁰⁰₀₀

WRITE TOTAL BID AMOUNT
(Items A.1 through A.25):

One hundred seventy four thousand
five hundred seventy two

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

BASE BID 'B' - HOLMAN ATHLETIC COMPLEX
MULTIPURPOSE FOOTBALL FIELD
SITE WORK FOR SYNTHETIC TURF REPLACEMENT

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>UNIT PRICE BID</u>	<u>BID AMOUNT</u>
B.1	CLEARING SITE	1	LS	\$ 22,000 ⁰⁰	\$ 22,000 ⁰⁰
B.2	REPAIRS TO EXISTING CHAIN LINK FENCE	1	LS	\$ 2,500 ⁰⁰	\$ 2,500 ⁰⁰
B.3	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, 6" TO 12" DIAMETER	1,190	LF	\$ 2 ⁰⁰	\$ 2,380 ⁰⁰
B.4	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 12" TO 18" DIAMETER	200	LF	\$ 2 ⁰⁰	\$ 400 ⁰⁰
B.5	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 18" TO 24" DIAMETER	400	LF	\$ 2 ⁰⁰	\$ 800 ⁰⁰
B.6	CLEANING EXISTING PIPE, 6" TO 12" DIAMETER	1,190	LF	\$ 4 ⁰⁰	\$ 4,760 ⁰⁰
B.7	CLEANING EXISTING PIPE, OVER 12" TO 18" DIAMETER	200	LF	\$ 4 ⁰⁰	\$ 800 ⁰⁰
B.8	CLEANING EXISTING PIPE, OVER 18" TO 24" DIAMETER	400	LF	\$ 4 ⁰⁰	\$ 1,600 ⁰⁰
B.9	CLEANING DRAINAGE STRUCTURE	3	UNIT	\$ 400 ⁰⁰	\$ 1,200 ⁰⁰
B.10	CONCRETE SIDEWALK, 4" THICK	30	SY	\$ 220 ⁰⁰	\$ 6,600 ⁰⁰
B.11	ALLOWANCE - MISC. WORK	25,000	DOLLARS	\$ 1.00	\$ 25,000
B.12	SUPPLEMENT FINISH STONE & LASER GRADING	87,800	SF	\$ 16 ⁰⁰	\$ 14,048 ⁰⁰
B.13	COORDINATION WITH TURF FIELD INSTALLER	1	LS	\$ 2,500 ⁰⁰	\$ 2,500 ⁰⁰
B.14	GENERAL SURFACE RESTORATION	1	LS	\$ 4,000 ⁰⁰	\$ 4,000 ⁰⁰

TOTAL BID AMOUNT (Items B.1 through B.14): \$ 88,588⁰⁰

WRITE TOTAL BID AMOUNT
(Items B.1 through B.14):

Eighty eight thousand
five hundred ~~sixty~~ eighty eight
dollars

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

BASIS OF AWARD

BIDDERS ARE ADVISED THAT ONE (1) CONTRACT WILL BE AWARDED FOR THE LOWEST AMOUNT BID FOR THE TOTAL SUM OF BASE BID 'A' AND BASE BID 'B'.

TOTAL AMOUNT BASE BID 'A'	\$ <u>174,572 . 00</u>
TOTAL AMOUNT BASE BID 'B'	\$ <u>88,638 . 00</u>
TOTAL CONTRACT AMOUNT BID (BASE BID 'A' + 'B')	\$ <u>263,140 . 00</u>

*By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:*

MR

ALTERNATES

Each Bidder shall complete all Alternates. The OWNER may award or reject the bid for any Alternate in accordance with N.J.S.A. 40A:11-23.1. Subject to the availability of funds, the OWNER may, but is not obligated to, award Alternates.

The determination of which bidder's response to a request for bids offers the lowest price shall be made on the basis of the price of the Base Bid plus the price of any selected Alternates.

For this Bid, the criteria by which specified alternate proposals shall be selected is as follows:

If funds are available, the OWNER may, but is not obligated to, consider award of Alternates which increase the contract amount. Such add Alternates will be awarded in the order listed except that an alternate which would cause the funds available to be exceeded may not be awarded and subsequent, less expensive Alternates, within the funds available, may be awarded in order.

Alternate Bids for the various portions of work or shall be as stated in accordance with the Specifications.

1. Attention is called particularly to the requirements for filling in all Alternate Bids called for on the Proposal Form, as the Owner reserves the right to award a Contract based upon the possible inclusion of one or more such Alternate Bids.
2. The amounts of the Alternate Bids shall include any and all modifications to related, adjacent or surrounding work made necessary by use of such Alternate Bids.
3. The Alternate Bids must be stated as additions to or deductions from the Base Bid, unless otherwise noted.
4. The term "No Bid" shall not be used with respect to Alternate Bids requested on the Proposal Forms. The Bidder who does not desire to make a change from the Base Bid under a particular Alternate Bid shall so indicate by using the words "No Change." Failure to bid or use of the term "No Bid" on any Alternate may cause rejection of entire bid.
5. Bidders must bid on every alternate bid. Additions to, or deductions from, the base bid shall be indicated in the appropriate blanks on the proposal form with additions to or deductions from the base bid filled in as appropriate. If a particular alternate bid does not result in an addition to or deduction from the base bid, the words "No Change" or N/C" shall be written in the blank for "No Change" on the proposal form, and the words "No Change" shall be written in the blank provided for the purpose of stating the numeric amount in words. Failure to bid on every alternate bid shall render the bid nonresponsive and cause the bid to be rejected.

ALTERNATE BID 'C' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

The LandTek Group, Inc.
(Bidder Name)

ALTERNATE BID 'C' - JUSTICE COMPLEX BASEBALL FIELDS #1 & #2 SITE WORK FOR 60' & 50/70' BASEBALL LAYOUT & SOFTBALL FIELD LAYOUT

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>UNIT PRICE BID</u>	<u>BID AMOUNT</u>
C.1	REMOVAL OF CLAY PITCHERS MOUND	380	SF	\$ 5 ⁰⁰	\$ 1,900 ⁰⁰
C.2	3/4" BASE STONE, 4" THICK (FOR PITCHERS MOUND AREA) - ADD BASE BID ITEM #A.16	690	SF	\$ 1 ⁰⁰	\$ 690 ⁰⁰
C.3	FINISH STONE, 2" THICK (FOR PITCHERS MOUND AREA) - ADD BASE BID ITEM #A.17	690	SF	\$ 1 ⁰⁰	\$ 690 ⁰⁰
C.4	GEOTEXTILE FABRIC (FOR PITCHERS MOUND AREA) - ADD BASE BID ITEM #A.18	690	SF	\$.204	\$ 138 ⁰⁰
C.5	BASEBALL FIELD EQUIPMENT (BASES, PITCHER'S RUBBER, HOME PLATE, ETC.) - DEDUCT BASE BID ITEM #A.20	-1	LS	\$ 9,000 ⁰⁰	\$ (9,000 ⁰⁰)
C.6	SOFTBALL & BASEBALL FIELD EQUIPMENT (BASES, PORTABLE MOUNDS, HOME PLATE, ETC.)	1	LS	\$ 28,500 ⁰⁰	\$ 28,500 ⁰⁰
C.7	PREFABRICATED STORAGE GARAGE ON 12" THICK 3/4" CLEAN STONE BEDDING	2	UNIT	\$ 10,500 ⁰⁰	\$ 21,000 ⁰⁰

TOTAL BID AMOUNT (Items C.1 through C.7): \$ 43,918 ⁰⁰

WRITE TOTAL BID AMOUNT
(Items C.1 through C.7):

Forty three thousand nine
hundred eighteen

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

MR

ALTERNATE BID 'D' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

The LandTEK Group, Inc.
(Bidder Name)

ALTERNATE BID 'D' - JUSTICE COMPLEX BASEBALL FIELDS #1 & #2 DUGOUT CANOPY REPLACEMENT

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>UNIT PRICE BID</u>	<u>BID AMOUNT</u>
D.1	REMOVE & REPLACE DUGOUT SHADE CANOPY	4	UNIT	\$ 7,500 ⁰⁰	\$ 30,000 ⁰⁰

TOTAL BID AMOUNT (Item D.1): \$ 30,000⁰⁰

WRITE TOTAL BID AMOUNT
(Item D.1):

Thirty thousand

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

MR

ALTERNATE BID 'E' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

The LandTek Group, Inc.

(Bidder Name)

ALTERNATE BID 'E' - HOLMAN ATHLETIC COMPLEX MULTIPURPOSE FOOTBALL FIELD FOOTBALL SAFETY NETTING SYSTEM

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>UNIT PRICE BID</u>	<u>BID AMOUNT</u>
E.1	FOOTBALL SAFETY NETTING SYSTEM	2	UNIT	\$ 19,000 ⁰⁰	\$ 38,000 ⁰⁰

TOTAL BID AMOUNT (Item E.1): \$ 38,000⁰⁰

WRITE TOTAL BID AMOUNT
(Item E.1):

Thirty eight thousand

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

MR

ALTERNATE BID 'F' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

The LandTEK Group, Inc.
(Bidder Name)

ALTERNATE BID 'F' - JUSTICE COMPLEX SOCCER FIELD SITE WORK FOR SYNTHETIC TURF REPLACEMENT

ITEM	DESCRIPTION	BID QUANTITY	UNIT	UNIT PRICE BID	BID AMOUNT
F.1	CLEARING SITE	1	LS	\$ 21,000 ⁰⁰	\$ 21,000 ⁰⁰
F.2	REPAIRS TO EXISTING CHAIN LINK FENCE	1	LS	\$ 43,000 ⁰⁰	\$ 43,000 ⁰⁰
F.3	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, 6" TO 12" DIAMETER	1,210	LF	\$ 2 ⁰⁰	\$ 2,420 ⁰⁰
F.4	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 12" TO 18" DIAMETER	150	LF	\$ 2 ⁰⁰	\$ 300 ⁰⁰
F.5	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 18" TO 24" DIAMETER	650	LF	\$ 2 ⁰⁰	\$ 1,300 ⁰⁰
F.6	CLEANING EXISTING PIPE, 6" TO 12" DIAMETER	1,210	LF	\$ 4 ⁰⁰	\$ 4,840 ⁰⁰
F.7	CLEANING EXISTING PIPE, OVER 12" TO 18" DIAMETER	150	LF	\$ 4 ⁰⁰	\$ 600 ⁰⁰
F.8	CLEANING EXISTING PIPE, OVER 18" TO 24" DIAMETER	650	LF	\$ 4 ⁰⁰	\$ 2,600 ⁰⁰
F.9	CLEANING DRAINAGE STRUCTURE	6	UNIT	\$ 400 ⁰⁰	\$ 2,400 ⁰⁰
F.10	CONCRETE SIDEWALK, 4" THICK	30	SY	\$ 220 ⁰⁰	\$ 6,600 ⁰⁰
F.11	ALLOWANCE - MISC. WORK	25,000	DOLLARS	\$ 1.00	\$ 25,000
F.12	SUPPLEMENT FINISH STONE & LASER GRADING	95,900	SF	\$.164 ⁰⁰	\$ 15,344.00
F.13	COORDINATION WITH TURF FIELD INSTALLER	1	LS	\$ 2500 ⁰⁰	\$ 2,500 ⁰⁰
F.14	SOCCER FIELD EQUIPMENT (REPLACEMENT NETS & WHEEL KITS)	1	LS	\$ 23,000 ⁰⁰	\$ 23,000 ⁰⁰
F.15	GENERAL SURFACE RESTORATION	1	LS	\$ 6,000 ⁰⁰	\$ 6,000 ⁰⁰

(CONTINUED OF NEXT PAGE)

TOTAL BID AMOUNT (Items F.1 through F.15): \$ 156,904.72

WRITE TOTAL BID AMOUNT
(Items F.1 through F.15):

One hundred fifty six thousand
nine hundred and four

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is

MR

ALTERNATE BID 'G' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

The LandTEK Group, Inc.
(Bidder Name)

ALTERNATE BID 'G' - JUSTICE COMPLEX SOCCER FIELD BALL STOPPER NETTING

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>BID QUANTITY</u>	<u>UNIT</u>	<u>UNIT PRICE BID</u>	<u>BID AMOUNT</u>
G.1	BALL STOPPER NETTING, 20' HIGH	765	LF	\$ 122 ⁰⁰	\$ 93,330 ⁰⁰

TOTAL BID AMOUNT (Item G.1): \$ 93,330 ⁰⁰

WRITE TOTAL BID AMOUNT
(Item G.1):

Ninety-three thousand
three hundred thirty three

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

MR

ALTERNATE BID 'H' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

The LandTEK Group, Inc.
(Bidder Name)

ALTERNATE BID 'H' - JUSTICE COMPLEX MULTIPURPOSE FOOTBALL FIELD SITE WORK FOR SYNTHETIC TURF REPLACEMENT

ITEM	DESCRIPTION	BID QUANTITY	UNIT	UNIT PRICE BID	BID AMOUNT
H.1	CLEARING SITE	1	LS	\$ 25,000 ⁰⁰	\$ 25,000 ⁰⁰
H.2	REPAIRS TO EXISTING CHAIN LINK FENCE	1	LS	\$ 14,500 ⁰⁰	\$ 14,500 ⁰⁰
H.3	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, 6" TO 12" DIAMETER	1,200	LF	\$ 2 ⁰⁰	\$ 2,400 ⁰⁰
H.4	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 12" TO 18" DIAMETER	175	LF	\$ 2 ⁰⁰	\$ 350 ⁰⁰
H.5	VIDEO INSPECTION OF EXISTING FIELD DRAINAGE PIPING SYSTEM, OVER 18" TO 24" DIAMETER	725	LF	\$ 2 ⁰⁰	\$ 1,450 ⁰⁰
H.6	CLEANING EXISTING PIPE, 6" TO 12" DIAMETER	1,200	LF	\$ 4 ⁰⁰	\$ 4,800 ⁰⁰
H.7	CLEANING EXISTING PIPE, OVER 12" TO 18" DIAMETER	175	LF	\$ 4 ⁰⁰	\$ 700 ⁰⁰
H.8	CLEANING EXISTING PIPE, OVER 18" TO 24" DIAMETER	725	LF	\$ 4 ⁰⁰	\$ 2,900 ⁰⁰
H.9	CLEANING DRAINAGE STRUCTURE	10	UNIT	\$ 400 ⁰⁰	\$ 4,000 ⁰⁰
H.10	CONCRETE SIDEWALK, 4" THICK	130	SY	\$ 172 ⁰⁰	\$ 22,360 ⁰⁰
H.11	ALLOWANCE - MISC. WORK	25,000	DOLLARS	\$ 1.00	\$ 25,000
H.12	SUPPLEMENT FINISH STONE & LASER GRADING	87,800	SF	\$.164	\$ 14,048 ⁰⁰
H.13	COORDINATION WITH TURF FIELD INSTALLER	1	LS	\$ 2,500 ⁰⁰	\$ 2,500 ⁰⁰
H.14	JUSTICE COMPLEX MULTIPURPOSE FIELD EQUIPMENT (REPLACEMENT NETS & WHEEL KITS)	1	LS	\$ 22,000 ⁰⁰	\$ 22,000 ⁰⁰
H.15	GENERAL SURFACE RESTORATION	1	LS	\$ 4,000 ⁰⁰	\$ 4,000 ⁰⁰

(CONTINUED ON NEXT PAGE)

TOTAL BID AMOUNT (Items H.1 through H.15): \$ 146,008.75

WRITE TOTAL BID AMOUNT
(Items H.1 through H.15):

One hundred forty six thousand
eight dollars

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

MR.

ALTERNATE BID 'I' PROPOSAL

SITE WORK FOR VARIOUS TURF FIELD REPLACEMENTS WITHIN THE TOWNSHIP OF JACKSON

The LandTek Group, Inc.

(Bidder Name)

ALTERNATE BID 'I' - JUSTICE COMPLEX MULTIPURPOSE FOOTBALL FIELD BALL STOPPER NETTING

ITEM	DESCRIPTION	BID QUANTITY	UNIT	UNIT PRICE BID	BID AMOUNT
I.1	BALL STOPPER NETTING, 20' HIGH	570	LF	\$124 =	\$ 70,680 =

TOTAL BID AMOUNT (Item I.1): \$ 70,680 =

WRITE TOTAL BID AMOUNT
(Item I.1):

Seventy thousand
six hundred eighty

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

MR